

Lectured By Dr. H.K. Yadav
 Deptt. of Mathematics, Muralari College, BBU.
 B.Sc. (part-I) H. Paper-I. Date: 28-05-2020

Q.1 prove that a group H of a group G is normal iff $xHx^{-1} = H, \forall x \in G$.

Proof: Let us first suppose $xHx^{-1} = H, \forall x \in G$

Then, $xHx^{-1} \subseteq H, \forall x \in G$.

$\Rightarrow H$ is a normal subgroup of G .

Conversely. Let H be a normal subgroup of G . then

$$xHx^{-1} \subseteq H \quad \forall h \in H \text{ and } \forall x \in G \quad \text{--- (I)}$$

$$\Rightarrow xHx^{-1} \subseteq H, \forall x \in G$$

Also, let h be any element of H , then for every $x \in G$, we have

$$h = ehe = x x^{-1} h x x^{-1} = x (x^{-1} h x) x^{-1} \in xHx^{-1}$$

Since, $x^{-1} h x = x^{-1} h (x^{-1})^{-1} \in H, x^{-1} \in G$ and H being normal

Therefore, $H \subseteq xHx^{-1}, \forall x \in G$ --- (II)

Now, from I and II, we conclude that

$$xHx^{-1} = H, \forall x \in G$$

Q.2. A subgroup H of a group G is a normal subgroup of G if and only if, every left coset of H in G is a right coset of H in G .
 Proof: Let us first suppose H is a normal subgroup of G . Then, we know that

$$\Rightarrow xHx^{-1} = H, \forall x \in G$$

$$\Rightarrow (xHx^{-1})x = Hx, \forall x \in G$$

$$\Rightarrow (xH)x^{-1}x = Hx, \forall x \in G$$

$$\Rightarrow xH = Hx, \forall x \in G$$

$\Rightarrow$ each left coset xH is the right coset Hx .

Conversely, let us suppose that each left coset of H in G is a right coset of H in G .

$$\Rightarrow xH = Hy, \text{ for some } x, y \in G$$

Since, $e \in H$, so $x = xe \in xH$

Thus, $x \in xH = Hy$

Now, $x \in Hy \Rightarrow xy^{-1} \in H \Rightarrow Hx = Hy$

Therefore, we have

$$xH = Hx, \forall x \in G$$

$$\Rightarrow xHx^{-1} = Hx x^{-1}, \forall x \in G$$

$$\Rightarrow xHx^{-1} = H, \forall x \in G$$

Hence, H is a normal subgroup of G . proved

Q.3. A subgroup H of a group G is a normal subgroup of G if and only if the product of two right cosets of H in G is again a right coset of H in G .

Proof: Let H be a normal subgroup of a group G . and x, y be any two elements of G .

$\Rightarrow Hx, Hy$ are any two right cosets of H in G .
We have, $(Hx)(Hy) = H(xH)y$ [By associativity]
 $= H(Hx)y$ [$\because H$ is normal $\Rightarrow Hx = xH$]
 $= (HH)y$ [By associativity]
 $= Hy$ [$\because HH = H$]

$x, y \in G \Rightarrow xy \in G \Rightarrow Hxy$ is a right coset of H in G , thus the product of two right cosets Hx and Hy is the right coset Hxy .

Conversely: Let H be a subgroup of G such that the product of two right cosets of H in G is again a right coset of H in G .

$$\text{i.e. } (Hx)(Hy) = Hxy, \forall x, y \in G$$

Let $x \in G, h \in H$.
Then, $xhx^{-1} = (ex)(hx^{-1}) \in (Hx)(Hx^{-1})$

Since, $e \in H \Rightarrow Hx^{-1} = He = H$

Thus, we have, $xhx^{-1} \in H, \forall h \in H$.

Therefore, H is normal subgroup of G . proved